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Question Number : 1 Question Id : 630680382870 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

4. % Q

Question Number : 1 Question Id : 630680382870 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Seven people named P, Q, R, S, T, U and V are sitting around a circular table facing the centre. Q is

second to the left of P. Ris third to the right of Q. U is second to the left of T. V is third to the left of



U. T is to the immediate right of S. Who is sitting third to left of V?

Options:

4. % Q

Question Number : 2 Question Id : 630680382871 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Each of K, L, M, N, O, P and S has an exam on a different day of a week starting from Monday and
ending on Sunday of the same week. Only three people have exams before P. Only two people
have exams between the exams of K and P. Only N has exam after L. K's exam is immediately

before S. O’'s exam is on Friday. On which day is M's exam?

Options :

1. % Monday

2. ¥ Tuesday

3. ¥ Wednesday

4, % Saturday

Question Number : 2 Question Id : 630680382871 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

K, L, M, N, O, P %8050 S 0% Rfar8o dod S0Eens™ e8Bardos® Sniider 28 ardod® 872850 Fe))d
SEF0TO0N. P sS0ch S0thS S H0Fen eayon. K 8ok P o 585 iy w8 Srgiid Hogen
GO, L Sooses N & sSrgfedd $58F csod. K Gang) H0% S £ 55eaadd 500t 0. O G3ng) 588 o &S

&oQ. @S M G3ng), H8Y & Sewroe coenod?



Options :

1. % %HarS0
2. * Sotigaro
3. ¥ 2080

4. % 8o

Question Number : 3 Question Id : 630680382872 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % B! @0 7
2. % H: ®o&d 6
3. % A @& 5

4. ¥ F: @05y 1

Question Number : 3 Question Id : 630680382872 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Eight people named A, B, C, D, E, F, G and H live on different floors of a building. The ground floor



is number 1, the floor above it number 2 and so on till the top floor is number 8. E lives on floor 3.
C lives on the floor immediately above H's floor. B lives on the floor immediately above G's floor. F
lives on some floor below E's floor. Only four people live above D’s floor. C does not live on floor 8.
Only one person lives between the floors of D and A. Which of the following is a correct match of

person and floor?

Options :

1. % B: Floor7
2. % H:Floor6
3. ¥ A:Floor5

4.+ F: Floor 1

Question Number : 4 Question Id : 630680382873 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 4 Question Id : 630680382873 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which

of the given conclusions logically follow(s) from the statement(s).

Statements:
All pillows are blankets.

All blankets are beds.

Conclusions:
L. All pillows are beds.

II. Some beds are blankets.

Options :

1. # Only conclusion I follows

2. * Only conclusion II follows

3. % Both conclusions I and II follow

4. % Neither conclusion I nor II follow

Question Number : 5 Question Id : 630680382874 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 5 Question Id : 630680382874 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the
statements is true, even if it appears to be at variance with commonly known facts, decide which

of the given conclusions logically follow(s) from the statement(s).

Statements:
All almonds are bananas.
All cashews are bananas.

All bananas are raspberries.

Conclusions:



L. All almonds are raspberries.
II. Some raspberries are cashews.

I1I. No cashew is a raspberry

Options :

1. % Only conclusion I follows
2. * Only conclusion II follows
3. ¥ Conclusions I and II follow

4. * ConclusionsIand III follow

Question Number : 6 Question Id : 630680382875 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

In a code language, 'TYPIST' is written as ‘72111887’, ‘CRAVE' is written as '24926522', how will

'UNION' be written in that language?

Options :

1. % 613181513
2. % 614181214
3. % 211391213

4.4 613181213

Question Number : 6 Question Id : 630680382875 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
28 §°G e &®, 'TYPIST' '72111887" e, 'CRAVE' '24926522" &0 &prtd, & g7 &® 'UNION' oder

TPOH0eH0R?

Options:

1. %# 613181513



2. % 614181214
3. % 211391213

4.4 613181213

Question Number : 7 Question Id : 630680382876 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2ESFH<F<T>R>LOOAM™S>T=M>Y <G @onsge, 808 BS° OO yHorr KFSA 5°¢0?

Options :
1. % L<T
2. % S>R
3. 97>G

4. % L<S

Question Number : 7 Question Id : 630680382876 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
IfH<F<T>R>LandS>T=M>Y <G, then which of the following is NOT definitely correct?

Options :
1. % L<T
2. # S>R
3.YT7>G

4. % L<S

Question Number : 8 Question Id : 630680382877 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
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CUL-7, JBS-11, QIZ-19, XPG-35, EWN-67 , ?

Options :

1.+ LDU-131
2. # LDU-136
3. % LEV-131

4. % KDT-133

Question Number : 8 Question Id : 630680382877 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Select the term that will replace the question mark (?) in the following series.
CUL-7,)BS-11, QIZ-19, XPG-35, EWN-67, ?

Options:

1.+ LDU-131

2. % LDU-136

3. # LEV-131

4. % KDT-133

Question Number : 9 Question Id : 630680382878 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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(2¢8s%) COT, HKA, EBY, PCL, IMA, UWE (%&)

Options:
1. % VVF
2. % FAX
3. ¥ OBK

4. % QD)

Question Number : 9 Question Id : 630680382878 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In the letter clusters given below, if all the vowels are moved one letter forward and all consonants
are moved one letter backward as per the English alphabet and then all the new letter clusters
thus formed are arranged in the alphabetical order from left to right on the basis of their first

letter, then which letter cluster will be second from the right end in the new arrangement?
(Left) COT, HKA, EBY, PCL, IMA, UWE (Right)

Options:

1. % VVF

2. % FAX

3. ¥ OBK

4. % QD)

Question Number : 10 Question Id : 630680382879 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 038
2. ¥ P
3. * 2%

4, = 9

Question Number : 10 Question Id : 630680382879 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Refer to the following number letter series and answer the question that follows.

(Left) F2ZBE79N2MA3L54PE7R8U9W6AD75A8W4LEHS5T3UP4C2EGES7AYS
U9ON3E3L25A79MA4EG6L(Right)

How many consonants in the above series are immediately followed by a vowel and immediately

preceded by an even number? (Consider counting from left to right only.)

Options :
1. # Three
2. ¥ Four

3. * Five

4.



# Six

Question Number : 11 Question Id : 630680382880 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
006583 e9F8-Rs575r0 Bodssd EY- Seirirod’, @werd s eFl Seirmiro TP @S- Hrirod” der
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SHKE- 6 : KVHN-24 :: FOYC-7 : RIFB-35:: CLVS-4:?

Options :

1. % OFVY-8
2. # OFWY-15
3. * PFVY-22

4. % OGWY-12

Question Number : 11 Question Id : 630680382880 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Select the option that is related to the fifth letter cluster in the same way as the first letter cluster
is related to the second letter cluster and the third letter cluster is related to the fourth letter

cluster.

SHKE-6 : KVHN-24 :: FOYC-7 : RIFB-35:: CLVS-4:?
Options :

1. % OFVY-8

2. % OFWY-15

3. * PFVY-22

4.



® OGWY-12

Question Number : 12 Question Id : 630680382881 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

é’a"’&é’s B D Foho FADNAN)E éoa)oc,m@& 5N ) D YA a:)z‘lbs*’@ 3008 NoTHE ok,

FLOW: ASPJ: QKHZ

Options :

1. ¥ PLAY: CEPT: GLFX
2. % CORP: SGVT: GETH
3. ¥ BEDS: WHIF: URSD

4. # NICE: IFLS: HMVR

Question Number : 12 Question Id : 630680382881 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Select the letter cluster triad in which the letters clusters have the same relationship as in the

letter cluster triad given below.
FLOW: ASPJ: QKHZ

Options :

1. % PLAY: CEPT: GLFX

2. % CORP: SGVT: GETH

3. % BEDS: WHIF: URSD

4. * NICE: IFLS: HMVR



Question Number : 13 Question Id : 630680382882 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
$00 TPeuth @EE-R0G® S A8 KJC@S@@’S 2,300 G50ErON HOADH) 2,568 DSYore cotod. Te3S”
DT 0eidE 0k

Options :

1. % INSYF
2. % TXCIP
3. # CGLRY

4. ¥ VZEKS

Question Number : 13 Question Id : 630680382882 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Three of the following four letter-clusters are alike in a certain manner and one is different. Select

the one that is different.

Options :

1. % INSYF
2. #® TXCIP
3. ¥ CGLRY

4. ¥ VZEKS

Question Number : 14 Question Id : 630680382883 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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19, 32,46, 64,91 ,7

Options:
1. % 130
2.¥ 134
3. % 142

4. % 155

Question Number : 14 Question Id : 630680382883 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Select the number from among the given options that will replace the question mark (?) in the

following series.
19, 32, 46, 64,91, 7
Options :

1. % 130

2.¥ 134

3. % 142

4. % 155

Question Number : 15 Question Id : 630680382884 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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57 @ (27 % 8) & 5 # (74@37) % (125%25) @ 4 & 40.

Options :



1. % 15
2.¥ 28
3. % 30

4. % 40

Question Number : 15 Question Id : 630680382884 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In a certain code language, if' ‘& means 'addition’, '#' means 'multiplication’, '@' means 'division'

and '%' means 'subtraction’, then find the value of

57 @ (27 % 8) & 5 # (74@37) % (125%25) @ 4 & 40.

Options:
1. %15
2. ¥ 28
3. % 30

4. % 40

Question Number : 16 Question Id : 630680382885 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

India’s first indigenous aircraft carrier INS Vikrant was commissioned by the Prime Minister at
Cochin Shipyard Limited in September. The commissioning showcased the country’s growing
prowess of indigenous manufacturing and a major milestone in the path towards ‘Aatmanirbhar

Bharat'.

Based on the passage presented and the following assertion and reason statements, which of the

options is correct?



Assertion (A): The Commissioning of India’s first indigenous aircraft carrier INS Vikrant is a major
milestone in the path towards Aatmanirbhar Bharat.

Reason (R): INS Vikrant showcased India’s growing prowess of indigenous manufacturing.

Options :

1.+ Both A and R are true and R is the correct explanation of A

2. * Both A and R are true, but R is not the correct explanation of A
3. # Aistrue, butRis false

4. * Both A and R are false

Question Number : 16 Question Id : 630680382885 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 17 Question Id : 630680382886 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

It has been decided that the Chanderyaan-3 lander and rover would retain the names used in

Chanderyaan-2.

Which of the following is correct in this regard?

Options :

1. ® Lunar lander will be known as ‘Pragyan’ and rover will be known as ‘Vikram'.
2. ¥ Lunar lander will be known as ‘Vikram' and rover will be known as ‘Pragyan’.
3. # Lunar lander will be known as ‘Vikrant’ and rover will be known as ‘Pragyant’.

4. # Lunar lander will be known as ‘Pragyant’ and rover will be known as ‘Vikrant'.

Question Number : 17 Question Id : 630680382886 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

SoEara-3 ersocb 0ok FHEL Sogard-2 &° GHdirNodN Y @erd Gomred APowRoT.
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Options :

1. * ercrd er5oibd Qs @), BH6 ‘DE" @ .

2. ¥ erarb ergoiébd ‘DR’ @, BHE D’ e dengrdd.

3. ® orarb ergocibdd 'A5ros’ @), BH68 'Hrgos’ @ Henrrd.
4. % ercrd ergocbid 'Hrseed’ @, R ‘D50’ @) HEE.

Question Number : 18 Question Id : 630680382887 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.33

Short forms and full names of four Department of Defence have been given in the
table below. Which of the full form is not correct?

Abbreviation Full Form

1. DDP Department of Defence
Production
. DESW Department of Engineering
Services Works
3. DRDO Defence Research and
Development Organisation
4. DMA Department of Military Affairs

1]

Options :

1. # Explanation of 1 is incorrect
2. ¥ Explanation of 2 is incorrect
3. * Explanation of 3 is incorrect

4. ¥ Explanation of 4 is incorrect

Question Number : 18 Question Id : 630680382887 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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1. DDP Gar@auodd e Gy |EPSE

(Department of Defence Production)

2. DESW &arDR08 8D 202000 HO 5D &85

(Department of Engineering Services Works)

3. DRDO &R 68 @08 Boerd odd esdITEAS

(Defence Research and Development Organisation)

4. DMA Garg06 e derd eb)y

(Department of Military Affairs)

Options :

1.



% 1 %) DRQTes Trido HZod 52
2. ¥ 2 Q%) 8es Trdo Zod 57
3. ¥ 3 GB%) ITes Trdo HFod 57

4. % 4 Q%) ARQTes Trdo HZod 5°¢H

Question Number : 19 Question Id : 630680382888 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

§5e0 008 TBE Dofi 28 538y 20238 YRS sJPgeIPe B0 085 0 BolbOLr- VE SrRHSHe
Re50)S® Hdofowrdh.

Options :

1. ¥ o5
—/

Question Number : 19 Question Id : 630680382888 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Defence Minister Rajnath Singh addressed the strategically significant India- Army Chiefs'’
Conclave in Pune on 28 March 2023.

Options :
1. ¢ Africa
2. % America

3. # China



4. ® Japan

Question Number : 20 Question Id : 630680382889 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

iDEX 8§ Ko20080w) 808 é§¢)r5®€3’6 NS ANIAR-INIARNIAYS

Options:
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Question Number : 20 Question Id : 630680382889 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements is NOT correct with reference to iDEX?

Options :

1.+ IDEX aims at creation of an ecosystem to foster innovation and technology development in

industry and trade.

2. # iDEXis engaging industries including MSMEs, start-ups, individual innovators, R&D institutes

and academia.
3. # iDEX is funded and managed by a ‘Defence Innovation Organisation’ (DIO).

4. # ‘Defence Innovation Organisation’ (DIO) has been formed as a ‘not for profit' company.



Question Number : 21 Question Id : 630680382890 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Monitoring of the crop field in conventional farming requires intensive labour, physical
equipment, time, and effort. IoT provides an alternative to these traditional methods. An IoT
device contains one or more sensors that collect data and provide accurate information via mobile
applications or other means in real-time.

Based on the passage presented and the following assertion and reason statements, which of the

options is correct?

Assertion (A): Traditional methods of farming require intensive labour, physical equipment, time,
and effort.

Reason (R): Internet of Things provides an alternative to traditional methods of farming.

Options:

1. # Both A and R are true and R is the correct explanation of A

2. ¥ Both A and R are true, but R is not the correct explanation of A
3. # Aistrue, butRis false

4. % Both A and R are false

Question Number : 21 Question Id : 630680382890 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

RoHEonE H59Panos® Hot Drerd) HBRGosERS BRI Tk, TR HOFTren, Do, Hor @380, IoT
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Options :

1. % A 0050 R en Sods de¢850 00050 R @@ A Ging), 988 Jddea
2. ¥ A 50000 R &0 Sodér $6850, 5°R R @38 A 63w ¥38 dX8es o
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4. % A 005 R eo Jodder eoldedso

Question Number : 22 Question Id : 630680382891 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

& Fo) B INBS ©PTAS 0A IFRES® O BRGS FrEarN® 0&-e0-d0& PIEIEK @B
SHBAD AergEHeH &0 BRI EBODH FRS® G ey o300 @oerend® Gosehod?

Options:

1. ¥ 58 00ESS
2. ¥ erer 9065050
3. ¥ Sdnd

4. % Bo0HQ)

Question Number : 22 Question Id : 630680382891 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which company will provide end-to-end management of DIKSHA's online platforms across its
mobile application and website, and will be made accessible to students for free educational

content in their preferred Indian language?

Options :

1. % Bharti Airtel



2. % Tata Indicom
3. #* Vodafone

4. % Reliance

Question Number : 23 Question Id : 630680382892 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Read the given statement and conclusions carefully. Select the correct option based on the full

form of the abbreviation SATHI.

Statement: The Department of Science and Technology has launched a unique scheme

called SATHI.

Conclusions:

i. SATHI will address the problems of accessibility, maintenance, redundancy and duplication of
expensive equipment in the institutions.

ii. SATHI will also foster a strong culture of collaboration between institutions and across

disciplines to take advantage of developments, innovations and expertise in diverse areas.

Options :

1. % Only conclusion (i) is correct

2. * Only conclusion (ii) is correct

3. ¥ Both conclusions (i) and (ii) are correct

4. ®# None of the conclusions are correct

Question Number : 23 Question Id : 630680382892 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 24 Question Id : 630680382893 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

$o8 ae35° INSPIRE 508050 &) @07°e G30%), N3 JRdes 8o 2R N&?

Options:

1. % INSPIRE - a)30.8 98 2R H8m)568 $6 v 26 82§) (Innovation in Science Pursuit for

Inspired Research)

2. ® SEATS - Q)0 6 N0 WErES 88 wrdody HE 2R (Scheme for Early Attraction of Talents for

Science)

3. ¥ SHE - X858 $6 &6 ¢80 (Support for Her Education)

4. % AORC - 9556 es8)el H6 88y 366y (Assured Opportunity for Research Careers)

Question Number : 24 Question Id : 630680382893 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT the correct full form of INSPIRE and its components?

Options:

1. # INSPIRE - Innovation in Science Pursuit for Inspired Research
2. ¥ SEATS - Scheme for Early Attraction of Talents for Science

3. % SHE - Support for Her Education

4. % AORC - Assured Opportunity for Research Careers

Question Number : 25 Question Id : 630680382894 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is NOT correct with respect to the objectives of Phyto-Pharma

Plant Mission?

I. The mission aims at conservation and cultivation of endangered and threatened endemic
medicinal plants, and discovery of new botanical drugs for unmet medical needs using the rich
traditional ethnobotanical knowledge.

I1. Nodal Ministry for this mission is Ministry of Agriculture and Farmers Welfare.

Options:

1. % Only statement L is correct

2. % Only statement Il is correct

3. * Both statements I and II are correct

4. % Both statements I and II are not correct

Question Number : 25 Question Id : 630680382894 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ $508 T Srgd $356
2. % G¥es 1T Sregd 8380
3. % GEesen 1 50008 1T Sockr $38)

4. % H5eden I 0k IT 8ot 538 52

Question Number : 26 Question Id : 630680382895 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Qg SBHD KB eryr) e BErdseagion Srerotods H0FET KT eprdd egrgods®
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Options:

1. ¥ 306 835 o8BS @k 80kRI0HS 538 005k S0fAD Jarseah HosedS
2. % NS @5 20805 @o& ©0iPIOHNS 88 8050 Do@S &6 88 VLoD SRS
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4. % 396 99 20805 @0l BoiRIoHS 68y 5005 68) IGHE JehgERS DRl

Question Number : 26 Question Id : 630680382895 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33



Which of the following institutions have joined hands for JIGYASA - Student-Scientist Connect
Programme connecting school students and scientists so as to extend student’s classroom

learning with that of a very well planned research laboratory-based learning?

Options :

1. % Council of Scientific and Industrial Research and Kendriya Vidyalaya Sangathan

2. * Council of Scientific and Industrial Research and Central Board of Secondary Education
3. # Council of Scientific and Industrial Research and Indian Council of Secondary Education

4. # Council of Scientific and Industrial Research and Army Welfare Education Society

Question Number : 27 Question Id : 630680382896 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

SRS BAACHER HE GXeRoh & 578 00h B3 (NIDHI) 938 R e30h (gl ©dssies) ok
D0&00h HEK ISTFEBON 200 ST BFNRFNM 5P GT0E), G H)oes0 GEToS SPUgES0.
AR 80t5 & 228S° BREY 6, NomyEw F0H%R?

Options :

1. ¥ 208 ag
2. ¥ 008 mobSHE
3. # 606 erods

4. % 228 so5m)6

Question Number : 27 Question Id : 630680382896 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
National Initiative for Developing & Harnessing Innovation (NIDHI) is a programme to address the

complete chain of innovation ecosystem right from scouting to mentoring to scaling up

innovations. Under it, a research park has been established at which IIT?



Options :

1. % IIT Delhi

2. ¥ IIT Gandhinagar
3. # IIT Bombay

4. ® IIT Kanpur

Question Number : 28 Question Id : 630680382897 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

According to a report published by the National Survey of India, which of the following statements

is NOT correct with reference to literacy in India, as of 2023?

Options:

1. # Literacy rate of India in 2023 is 77.7 per cent.

2. # Andhra Pradesh has India’s lowest literacy rate of 67.35%.
3. # Rajasthan has the lowest male literacy rate in India.

4. ¢ Uttar Pradesh has the lowest female literacy rate.

Question Number : 28 Question Id : 630680382897 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
SRS K35 38 BoGOHR H80wdS AIBE Hse¥o, 2023 238 rEBRFS® @ETRFBL HowoBod Sob &e3S®

XBSA A0 HA?

Options :

1. % 20236° roesd¥ eloRge den 77.7 T,
2. % grSSEY ey oot 5t 67.35% @ogHdFe® eod.

3. # rESRTS® PO wiey ©FoiY 3en TuyRS” God.



4. ¥ &BERABTS® Soree TR o @0 Gol.

Question Number : 29 Question Id : 630680382898 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Sickle cell is an inherited disease in which misshapen red blood cells cannot properly carry oxygen
throughout the body.

The government's current strategy is to eliminate the disease by 2047. The plis to screen 70 million
at-risk people by 2025 to detect the disease early, while counselling those who carry the gene
about the risks of marrying each other.

Based on the passage presented and the following assertion and reason statements, which of the

options is correct?

Assertion (A): The government's current strategy is to eliminate the Sickle Cell disease by 2047.
Reason (R): Sickle cell is an inherited disease in which red blood cells cannot properly carry oxygen

throughout the body.

Options :

1. ¥ Both A and R are true and R is the correct explanation of A

2. * Both A and R are true, but R is not the correct explanation of A
3. # Aistrue, butRis false

4. % Both A and R are false

Question Number : 29 Question Id : 630680382898 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 30 Question Id : 630680382899 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The latest development in the Protection of Children from Sexual Offences (POCSO) Act is that the
parliamentary standing committee on home affairs has recommended to the Union Government
that the juvenile delinquency age be reduced from 18 to 16.

Based on the passage presented and the following assertion and reason statements, which of the

options is correct?

Assertion (A): The parliamentary standing committee on home affairs has recommended to the
Union Government that the juvenile delinquency age be reduced from 18 to 16, under POCSO.
Reason (R): Sexual crime against children is very serious, so accused above 16 years of age should

be tried as adults.

Options :
1. ¥ Both A and R are true and R is the correct explanation of A
2. * Both A and R are true, but R is not the correct explanation of A

3. # Ais true, but R is false



4. % Both A and R are false

Question Number : 30 Question Id : 630680382899 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 31 Question Id : 630680382900 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
prelotal- o TGO QOB FS 2BGS® ol B 2022 T8 K KRS (BHCRYE Ko230Go) Sobd
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Options :
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Question Number : 31 Question Id : 630680382900 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

‘The judicial system in India is under tremendous pressure’. Which of the following statements is

NOT correct in this reference, as of May 20227

Options :

1. # Over 4.7 crore cases are pending in courts across different levels of the judiciary.
2. # QOut of total 87.4% are pending in Subordinate Courts.

3. # Out of total 12.4% in are pending in High Courts.

4.+ Nearly 1,82,000 cases have been pending for over 50 years.

Question Number : 32 Question Id : 630680382901 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct with respect to National Clean Air Programme
(NCAP) of Government of India?

I. National Clean Air Programme (NCAP) is a national-level strategy for reducing the levels of air
pollution at both the regional and urban scales.

II. Target is for reduction of 20-30% of PM2.5 and PM10 concentration by 2025.

Options :
1. ¥ Only statement I is correct
2. # Only statement I is correct

3. ¥ Both statements I and II are correct



4. ¥ Both statements I and II are not correct

Question Number : 32 Question Id : 630680382901 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 33 Question Id : 630680382902 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
800 TES° I s sty DT HEPSAS @YY HSTeo A AQ?

Options :
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Question Number : 33 Question Id : 630680382902 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT an eligibility criterion for Health Insurance Scheme for weavers?

Options :
1. # The scheme will cover the weaver’s family of four - self, spouse and two children.
2. ¥ The weaver should be earning at least 50% of his income from handloom weaving.

3. ¥ All weavers, whether male or female, are eligible to be covered under the ‘Health Insurance

Scheme'.

4. ¥ The scheme covers people upto 60 years of age.

Question Number : 34 Question Id : 630680382903 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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Options:

Question Number : 34 Question Id : 630680382903 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The All India Institute of Medical Sciences (AIIMS) Delhi opened its first _____ bank in June 2023.
Options :

1.



® eye
2. % skin
3. ¥ liver

4. % pblood

Question Number : 35 Question Id : 630680382904 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The Madhya Pradesh High Court has asked the Central Government to reduce the age of consent

to 16 for consensual sexual relationship giving which of the following statements?

Options :

1. ¥ Due to exposure to social media, adolescents are attaining puberty at an early age.
2. # Certain chemicals in fast food are making adolescents attain puberty at an early age.
3. # Climatic changes are bringing about puberty early.

4. # Adolescents are opening up to the idea of safe sex.

Question Number : 35 Question Id : 630680382904 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 36 Question Id : 630680382905 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 36 Question Id : 630680382905 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is NOT correct with respect to ‘Jal Shakti Abhiyan’ of the

Government of India?

Options:
1. # Itis a nation-wide campaign focussing on saving and conserving rainwater.
2. ® This year it is from 4 March to 30 November 2023.

3. ¢ It would be focussing on ensuring source sustainability in 200 water stressed districts of

India.

4. % Tt will cover both rural and urban areas of the country.

Question Number : 37 Question Id : 630680382906 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 37 Question Id : 630680382906 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

A , sSpearheaded by Nikhat Zareen and Lovlina Borgohain, will represent India at the Asian

Games 2023, which will be held in Hangzhou, China, from 23 September to 8 October this year.

Options :

1. % 13-member boxing team
2. ¥ 11-member wrestling team
3. # 12-member judo team

4. # 11-member archery team

Question Number : 38 Question Id : 630680382907 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 38 Question Id : 630680382907 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Karthik Reddy Arabandi from Tirupati won gold in the 14-15-year age group category at the X
Commonwealth Championships held at the University of Birmingham in the United

Kingdom (UK) in September 2022.

Options :

1. Karate

2. ¥ Judo

3. ¥ Wrestling

4. % Chess

Question Number : 39 Question Id : 630680382908 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
DG [FHS0E S e2BH w5RI00N FTPoDADANDE S e GBI .

Options :

1. %= 03¢
2. % P

3. ¥ 208



4, % o3

Question Number : 39 Question Id : 630680382908 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Pullela Gopichand won his National Badminton Championship times in a row.

Options :
1. % three
2. * four
3. ¥ five

4. % sjx

Question Number : 40 Question Id : 630680382909 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
0 5°%%0 @@, @b 00N S BoTNASS 8 2023 DT°eNe0S” Y16 BHESR?

Options :

1. % 3 @gﬁaﬁ 2023
2. ¥ 3 20wt 2023
3. % 3 et 2023

4. % 3 35026 2023

Question Number : 40 Question Id : 630680382909 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

When will the Dr YSR Memorial International Run 2023, a run for the cause of those who cannot be



held at Vishakhapatnam?

Options:

1. % 3 October 2023

2. ¥ 3 September 2023
3. ¥ 3 August 2023

4. % 3 November 2023

Question Number : 41 Question Id : 630680382910 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
2500 0S° 229008 HEEo FGoS S GrEBAD STY ASL?

Options:

1. % D dogd

3. ® apqer (hee

4. % o P8

Question Number : 41 Question Id : 630680382910 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who was the first Indian woman to have won an Olympic medal in badminton?

Options :
1. % PV Sindhu
2. % Saina Nehwal

3. # Jwala Gutta



4. % Ashwini Ponnappa

Question Number : 42 Question Id : 630680382911 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct with reference to Sports Authority of Andhra
Pradesh?

I. SAAP decided to request the government to effect registration, recognition and regulation of
sports associations as per the Sports Act 2022.

I1. SAAP approved the new sports policy 2022-32 in 2022.

Options :

1. % Only statement L is correct

2. ¥* Only statement Il is correct

3. * Both statements I and II are correct

4. # Both statements I and II are not correct

Question Number : 42 Question Id : 630680382911 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

R9G,) @708 @5 @oFHidTs Ko2ofod) 808 HEOSOS® OB / N KIXA (A)?

I St S0 2022 H5780 &t Ko 0BJIAS, (HG0s) 50050 AoHogieacs @sdes B0 oA Haberid)
@a)’ggo@e)é’) SAAP Qgonowod.

II. ¢ 8> Agedo 2022-32Q SAAP 20228° esde@ood.

Options:

1. ¥ $508 T Srgd 9350
2. % G¥es I Srgd 5380

3. % HEoden I 0005 IT Sodisr $35e)



4. % S5esen I 00050 II Sodir 388 s°5)

Question Number : 43 Question Id : 630680382912 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
When will the Hyderabad Juniorthon 2023 be held?

Options :

1. % 13 July 2023

2. ¥ 13 August 2023

3. ¥ 13 September 2023

4. % 13 October 2023

Question Number : 43 Question Id : 630680382912 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
FETEPE 2N 2023 5)eh BiHee?

Options :

1. % 13 g 2023
2. ¥ 13 &1% 2023
3. % 13 2%owb 2023

4. % 13 056 2023

Question Number : 44 Question Id : 630680382913 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

(h20°SS® 200 e®AH §en 20228° @og HATH F0BS F°5® AdgE _ Adwrth.



Options :

1. % 208 570805 D80
2. % 2.8 8528 He¥¥o
3. ¥ .8 R5Y Do

4, F Deroed He8Eo e GensdroliSd

Question Number : 44 Question Id : 630680382913 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
Jyothi Yarraji of Andhra Pradesh won at the National Games 2022 in Gujarat.

Options :

1. # a Bronze medal
2. * a Silver medal
3. ¥ a Gold medal

4. % no medal

Question Number : 45 Question Id : 630680382914 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

e905HAF Havesto &° HBES 3008 B0z S (CCO)Q T2 I0k.
Options :

1. % esifid 2022
2. % J3owb 2022

3. % esgsaoﬁ 2022



4. ¥ 35006 2022

Question Number : 45 Question Id : 630680382914 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
The Andhra Pradesh Government created an exclusive Climate Change Cell (CCC) in

Options :

1. % August 2022

2. % September 2022
3. ¥ October 2022

4. ¥ November 2022

Question Number : 46 Question Id : 630680382915 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

290iHATS” reraites SO TS §9Y0wothEd §o By FFFAP Ging) 5t Srso aaed?

Options :

1. ¥ 29 QR $6 59556 e0g5393¢ (Fridays For Future Andhra Pradesh)
2. % DS G $H6 8ogxd? (Full days For Future Andhra Pradesh)
3. % 20 @R 96 80gnd? (Fine days For Future Andhra Pradesh)

4, % 8 @ $6 wognds (Fast days For Future Andhra Pradesh)

Question Number : 46 Question Id : 630680382915 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the full form of FFFAP, working for creating climate change awareness in Andhra Pradesh?



Options :

1. ¢ Fridays For Future Andhra Pradesh
2. * Full days For Future Andhra Pradesh
3. * Fine days For Future Andhra Pradesh

4. * Fast days For Future Andhra Pradesh

Question Number : 47 Question Id : 630680382916 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct with reference to Andhra Pradesh Pollution
Control Board (APPCB)?

I. APPCB has its Head Office at Vijayawada, and 3 Zonal and 13 Regional Offices covering the entire
state.

II. The Board was constituted as State Board for Prevention and Control of Water Pollution, in 1976

but was later rechristened as AP Pollution Control Board.

Options :

1. * Only statement L is correct

2. ¥ Only statement I is correct

3. ¥ Both statements I and II are correct

4. * Both statements I and II are not correct

Question Number : 47 Question Id : 630680382916 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

esogéc3§ s NoHoges sook® (APPCB)S Ko2ofow) So& ééea&SeJeS’s RZB/RBSR AQ/D?

I. APPCB Q2305 S® 88 5508 sorgeosho $508050 3 £°858, 13 @jo@o‘ja sorgeared” Jngo TogrId)) EX6

3":990(5.



II. & &% 19765° A sPeniLy Aardes S$0aH AoHogies T S00GAM LT W0HGOE, WS STRY AN

AP seenidg K)ob’ao@ea 30T STT.

Options :

1. % 8508 T Srgad 98858

2. % 5508 1T $Srgdads $3SE

3. ¥ H5eden I 558050 II Socér $385:)

4. % HEeden I 000 IT Sodr 3885 5°69

Question Number : 48 Question Id : 630680382917 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
800 BS° BoFHAT SPeuy N0Hoges 00O SHRES® D)) Vo™ & dhogo T '8°§OZ§J Derifoes® Sea?

Options :

1. % UV - Qzend 359000406
2. % 2005 90 5Fed
3. ¥ eerds @wirydy S EIPE D0

4. ¥ GAR anpI) onbdos)

Question Number : 48 Question Id : 630680382917 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following machines does the Andhra Pradesh Pollution Control Board NOT have its

scientific division as reported on its website?

Options :

1. % UV - Visible Spectrometer



2. % Specific Ion Analyser
3. #* Atomic Absorption Spectrophotometer

4. % Davis Instruments Airlinks

Question Number : 49 Question Id : 630680382918 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
e0FNAT ey SSISCEELARNATSE SRS R3E800R 8 2030 ~re38 oo JrQod A SO
58538058 R (HYosgeomn.

Options :

1. 17,212
2. % 18,700
3. % 19,654

4. * 20, 459

Question Number : 49 Question Id : 630680382918 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh has adopted all ____ Sustainable Development Goals and indicators have

been identified to monitor the progress towards achieving the targets by 2030.

Options :

1.917,212
2. # 18,700
3. # 19,654

4. % 20, 459



Question Number : 50 Question Id : 630680382919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2020-216° e90eren o280 B5HIS BoETS Ko2oBodsS SDG-7&" e30HR3% ooyt _ Q) s00050 72
AWFH %68 oBod.

Options:
1. % IV
2. % 1II
3. %11

4. v 1

Question Number : 50 Question Id : 630680382919 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh has secured Rank No. ____in SDG-7 that pertains to affordable and clean energy,

and a composite score of 72 in 2020-21.

Options :
1. % IV
2. % II
3. % 1I

4. |

Question Number : 51 Question Id : 630680382920 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Andhra Pradesh has as its eastern boundary.

Options:



1. # Telangana
2. * Chhattisgarh
3. #* Odisha

4. ¢ Bay of Bengal

Question Number : 51 Question Id : 630680382920 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
&30 AT o) iy SO Q 98 God.

Options :

1. % Seoonres
2. ® 3®JE
3. ® 2utar

4. ¥ 20omrerareso

Question Number : 52 Question Id : 630680382921 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

DR wok 2o GTE6 .28 SoE® 3¢ Hseo 2022-238° WoFHATS® Hhe SX35e ewrabo 8
Fslelglelal
Options:

1. % ¥4,656 ey
2. 34,756 Sep

3. % 74,856 Sy



4. % 34,956 ey

Question Number : 52 Question Id : 630680382921 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Mining Revenue has increased in Andhra Pradesh to in 2022-23 as stated by the Director
of Mines and Geology, VG Venkata Reddy.

Options :

1. * 4,656 crore
2. ¥ %4,756 crore
3. # 4,856 crore

4, = T4,956 crore

Question Number : 53 Question Id : 630680382922 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
808 8S° Bwrsard BABS® PoSBEY e Hrrsko 2B H&?

Options :

1. % 0B0FS EorgSaR

2. ¥ &0 58

3. # J8FH0HI0S D

4. % 56 erdols

Question Number : 53 Question Id : 630680382922 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Which of the following is NOT a positive impact of technology on daily life?

Options:

1. # Improved communication
2. ¥ Decreased privacy

3. # Flexible working

4. # Smarter health tracking

Question Number : 54 Question Id : 630680382923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
$08 BS® S BsmoBS Hoofow) HZKA 2R B?

Options:

1. % 0 G508 &N srenaryd) S9N

2. % 45 Semyol S5O0 NP SEBS® GHAETAE0.
3. ¢ ©DYQ FoHeHS) Ao (0 GsoR ORSH 7.

4. % B 8508 o Sggren 00 G yEhHeD RES Jipod.

Question Number : 54 Question Id : 630680382923 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT correct about green technology?

Options :
1. ¥ Green technology is less polluting.
2. # Green technology uses resources in a sustainable manner.

3. ¥ Green technology is not expensive for the developing countries.



4. # Green technology recycles more of its wastes and products.

Question Number : 55 Question Id : 630680382924 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

$00 TBS° KBS 68y vty (WRI) SRS DS BITN ©e HBgEEd HOCKH 3°YOF D595 @0
b 88 an (GFW) 3o & AR Q&38osdain?

Options :

1. ¥ 50 Srgaoc yaoico

2. ¥ @8 PEEo8 JFn0to

3. % 378)050% Xefiee Srodio

4. ¥ @0 $EE8 ABETocsio

Question Number : 55 Question Id : 630680382924 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following functions CANNOT be done through the Global Forest Watch (GFW), an

online forest monitoring and alert system developed by World Research Institute (WRI)?

Options :

1. * Create custom maps
2. * Analyse forest trends
3. % Subscribe to alerts

4. + QOrganise forest walks

Question Number : 56 Question Id : 630680382925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is correct with reference to public health care function through
Geospatial Technology?

I. Performing contact tracing is possible through Geospatial Technology to identify individuals who
may have been exposed to the potentially deadly disease.

II. It is possible to administer medicines and perform surgeries through Geospatial Technology.

Options :

1. % Only statement I is correct

2. * Only statement Il is correct

3. ¥* Both statements I and II are correct

4. % Both statements I and II are not correct

Question Number : 56 Question Id : 630680382925 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 HEOSOS® BAIFPRYNODS G5B TT° HarG s DO Ho2oRo) AB HJSR?

L. Sresrodfs aesR8 HEChy 9550 HPolters BATRNDNS BsoyeR Tioe sPoér§ Aok doHio
ESAIONTIVITAN

I1. 2AFRYNOHS B0 TIT° sHotHen B0 S8R FRIEG o0 Bdadtio ArEgR)ER.

Options :

1. ¥ 5508 1 Srgd 5950
2. % S 11 Srggd K380
3. % ¥esen I 500w 1T dockr K38

4. % 5o [ 8050 II Sodis D88 5059

Question Number : 57 Question Id : 630680382926 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
$08 PEOSOS® BATPEL HowoHow) NG AR NA?

Options :

1. % 28 95, J0BS H0ETren 000k PCen Fthosd 70 Jedsoes’® ehdomrdo wahiod®

RSIPONRCB0TN0N.
2. ® 50 8 Gosrol sH0a TEVE 9 B8O 5o INBES orHeD.
3. % o8°t5 25 HOFDH HTeS Dogen B @8ty $55E JodEed® £ s SOTTTO @odrow.

4. @2{386@@ INISIAIN 63%"’%35 &53"@33 BSOS D0 @okerens® eod.

Question Number : 57 Question Id : 630680382926 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements is NOT correct with respect to telehealth?

Options :
1. # Cell phones, mobile devices and PCs are helping connect patients with their practitioners.
2. # Doctor on Demand and NowClinic are mobile apps for telehealth.

3. # Health insurance industry’s major players offer some form of telehealth in their health

coverage options.

4. + Telehealth option is available only in the developed countries.

Question Number : 58 Question Id : 630680382927 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

2000HS BoBIRR) (Al), S S8)0h, ZrEI00N, 10T, BAP-YNCDHS sirgoh ot ros&sen
FE50Bo BRpTow.

Options :



1. % Saeésd POFPaRE D0
2. ¥ 0% rPOFPDE D0
3. ¥ 20058 POFRE Dy

4. % @55 FOTAE o

Question Number : 58 Question Id : 630680382927 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Technologies such as Artificial Intelligence (Al), machine learning, blockchain, IoT, geo-spatial
mapping are powering the

Options :

1. * third industrial revolution
2. ¥ fourth industrial revolution
3. # fifth industrial revolution

4. * sixth industrial revolution

Question Number : 59 Question Id : 630680382928 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
&GAE Dorgddes FPoSBEY & Dradg ¥R Kofferosdd 80 AR AsS Sor GHSPHEEFS S
STEYEPRS 8% KiFAHo BV0R. 808 TBS® YSLETYESE F88 Sarwo 2R NA?

Options:
1. % Koodgseod
2. % o

3. % g 6% &sio



4. ¥ S o)

Question Number : 59 Question Id : 630680382928 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Modern environmental technology has enabled us to capture this naturally occurring energy and
convert it into electricity or useful heat.

Which of the following is NOT a source of renewable energy?

Options :

1. #* Sunlight

2. * Tides

3. # Geothermal heat

4. + Natural gas

Question Number : 60 Question Id : 630680382929 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a correct match of organisms and patterns of
organisation of cells in it?

Organism Pattern of organisation of cells

I. Sponges a. Tissue level of
organisation

II. Coelenterates b. Cellular level of
organisation

II1. Platyhelminthes c. Organ level of
organisation

Options:

1. % Lall.bIll. c

2. * LblIl.clll.a

3.% I.cll.alll.b



4. ¢ L.bIl.alll. c

Question Number : 60 Question Id : 630680382929 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 e3¢5’ shen, a7¢3e3'Q e Derrred |6 (1e5))e HBS 23¢h
DE?

22 Segre) 2T ti0 &Y (Zaed

L " y0e8 e a. 230 O3wE), Eeazred Jow
1. ¥S0608) b. D230 Gy S VR aw

1. 23308 | . DOY 030E) @650 Y°aN

Options :

1.% Lall. bIIL c
2. % ILbIl.clIl. a
3.% Lcll.alll. b

4.« LbIl.alll. c

Question Number : 61 Question Id : 630680382930 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following statements is/are NOT correct with respect to definition of anatomy and

physiology?
I. Physiology focuses on the physical arrangement of parts in the body,

I1. Anatomy studies the inner functioning of cells, tissues, and organs.

Options :

1. * Only statement I is not correct



2. # Only statement II is not correct
3. ¥ Both statements I and II are not correct

4. % Both statements I and II are correct

Question Number : 61 Question Id : 630680382930 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 HBOOS® @T e B0 %‘86(}56&?@ QTLETPRS 50230802 B / D) IZSA () 5°¢?
L %865&_564?@0 F0BoF°R grre FBE @h0sR G Dhod,

II. ¥06Qo7es TR0 I8 Srren, Seazrere), e9N0NT® LoES DRSS 550050 Biod.

Options:

1. % 5508 T Srgad 9380 s7

2. % 5508 IT $Srgdads S3SE 578

3. ¥ 1 50005 1T océh HFeSer S35 5289

4. % T 5005 IT Sotd REeS0r g5

Question Number : 62 Question Id : 630680382931 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a correct match of chemical compounds and their uses?

Chemical Use

Compound

I. Analgesics a. To treat infections

II. Antibiotics b. To prevent the growth
of microorganisms

III. Antiseptics c. To reduce or abolish
pain

Options :

1.



#® LallbIIlc
2. * IbIl.cIlla
3. % L.cll.bIllLa

4. ¥ [.cll.alll.b

Question Number : 62 Question Id : 630680382931 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S SO DIIFT N, 7°¢3 GHTBITTS TREY DB e3¢
DE?

SRP0NR DadFdo | G0
. 9S8 a. @005 W8I0
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Options :

1. % Lall.b IIl.c
2. # [bll.cIll.a
3. ®# Lcll.bIlla

4. ¢ I.cIl.alIll.b

Question Number : 63 Question Id : 630680382932 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

When do eating disorders such as bulimia and anorexia start?



Options :

1. ®* Childhood
2. ¥ Adolescence
3. * Youth

4. # Old age

Question Number : 63 Question Id : 630680382932 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
20N OAH ©FTEYOL® Hoe3 B KtHSBen ) FBogs)eTon?

Options:

1. # wrogo

2. ¥ §8°5 Zroso
3. ® oD

4, = c‘é@zg’égo

Question Number : 64 Question Id : 630680382933 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct with reference to habitat and species in ecology?
I. The functional characteristics of a species in its habitat is referred to as ‘niche’ in that common
habitat.

I1. A niche is unique for a species while many species share the habitat.

Options :
1. # Only statement L is correct

2. % Only statement Il is correct



3. ¥ Both statements I and II are correct

4. * Both statements I and II are not correct

Question Number : 64 Question Id : 630680382933 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

BrSTed T°RoS” BP0 AR 2PeHO Bowodo) S0 HFOSVS” AB /D BFS (J)?

L oQ Qo $00S” 228 2® GBE), TS oFreh & Ferdes 8o’ 'Hesneo T JRedgrdd.

II. @3% 2rehen eardlocs Hootns)H)es, NEndeio @l wf w88 2 HEESm dwotwod,

Options :

1. %S508 1 Sred 8380

2. % 5% I Sred $358

3. ¥ $50S T 650050 I Socér &35

4. % 550 100050 1T St 83856 500

Question Number : 65 Question Id : 630680382934 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following matches of the sweetener and its explanation is correct?

Sweetener Explanation

I. Ortho-sulphobenzimide |a. 100 times as sweet as cane

(Saccharin) sugar

II. Aspartame b. High potency sweetener

III. Alitame c. The first popular artificial
sweetening agent

Options :
1.4 Lcll.alll.b

2. % Lall.bIll.c



3. %# IbIl.cIlla

4. * Lcll.bIILa

Question Number : 65 Question Id : 630680382934 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

2556 s8N TR Ded&ea By, 180 BSHEDS ¢3S DB
DE?

ASBND DS
. &30-05 )BoRDE | a. 5338 $0T) 100 BEW D)
(FE6Q)
1. €9 QD b. &% 3835085 Fed 39
1. ©9EE c. (292378380 SFOE BcdHES
B B39 ©0H0B JHdo
Options:

1.+ LcIlalll.b
2. % Lall.bIll.c
3. * ILbIl.cIlla

4. # I.cll.bIIla

Question Number : 66 Question Id : 630680382935 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct?

I. Coelenterates, ctenophores and echinoderms have radical symmetry kind of body plan.

I1. Sponges are mostly asymmetrical.



Options :

1.+ Both I and Il are correct

2. % Both I andII are not correct
3. #* OnlyIis correct

4. % OnlyIlis correct

Question Number : 66 Question Id : 630680382935 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 BSOS’ B (1D HJKA (R)?

I. §Soe0en, JE*TPE) 0 HBTEEHD NS S TESS 0L S5SH EDN esosrom.

IT. JrYo& @0 EYST ORI otro.

Options:

1. ¢ S0 1 50005 1T Botér K38
2. % HEes T 5000w I Sotsr KD 579
3. % HEes | Segd $356

4. % GEes 1T Srgsdh S350

Question Number : 67 Question Id : 630680382936 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 BS° Ky TrErgS BoAR Q?

Options :

1. ¥ eoddwen

2. ¥ 9domren



3. % GO

4, ® @c‘é@@@z@@

Question Number : 67 Question Id : 630680382936 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following does NOT belong to the plant kingdom?

Options :

1. % Annelids

2. % Algae

3. # Pteridophytes

4. % Angiosperms

Question Number : 68 Question Id : 630680382937 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

B0FRAT 0759 DD AEres Do B JHeH AFgeres 570 T°H90S° @by el Ko, vl
K0NB Y0 HT2yBol.

Options :
1. % 2005
2. # 2006
3. ¥ 2007

4. % 2008

Question Number : 68 Question Id : 630680382937 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33

Andhra Pradesh State Disaster Management Authority is the apex body in the state for Disaster

Management which was constituted in the year

Options :
1. % 2005
2. # 2006
3. ¥ 2007

4. % 2008

Question Number : 69 Question Id : 630680382938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Based on the following assertion and reason statements, which of the options is correct?

Assertion: The impact of a tsunami is less over the ocean and more near the coast.
Reason: The speed of waves in the ocean depends upon the depth of water. It is more in shallow

water than in the ocean depth.

Options:

1. ¥ Both A and R are true and R is the correct explanation of A

2. % Both A and R are true, but R is not the correct explanation of A
3. * Alistrue, but Ris false

4. % Both A and R are false

Question Number : 69 Question Id : 630680382938 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

808 AN TE50, 57890 HELIL BTFYOIT, 20DELS® DB HGSR?



QY sPE50! KT PR K50 adts BN Goenod HBCKHH BTG HNS® EYBT Goenod.
Se8Ea0:! 9SNES® @ Sifo B S*eHP WETEHG ©oenod. BE HINE) S°HS® Kol STHE ABS® )T

&oCNo&.

Options:

1. ¥ A 8050 R en Sodis de850 00050 R @90 A Ging), 938 Jddea
2. % A 000 R &0 Sodir $6850, 52 R @38 A 63w $38 dX8es o
3. ¥ A X850, 5°Q R @0de8so

4. % A 00 R @0 Jodder eoldedso

Question Number : 70 Question Id : 630680382939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
808 TES® STSDH A IHH 5°AQ NA?

Options :

1. % afgo

3. ¥ RSressy X:.w’g’@ 202?63@.‘50

4, ¥ Joreme (Sreren

Question Number : 70 Question Id : 630680382939 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a manmade disaster?

Options :

1. * War



2. ¢ Tsunami
3. ¥ Hazardous materials exposure

4. # Transportation accidents

Question Number : 71 Question Id : 630680382940 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 8S® DHeH RoRGe H0a g5E0d Nardes {J°gero S°RAQ Q?

Options :

1. % 2550 HU5REET Somrend (dRHerBES Voeh) Hoyen Bohie.
2. # 2Brmrasd druidol e (GPS) eddirio.
3. # 5 o Froerd’ w0l §seen sH00%HN Nones GRS $:580o

4. ¥ rSoren FITODH IS0 0HS) S Frigioto JoHSY s72g 5 EAed Froerd® B dovyes
sEgEerrod® grd Slofe SIS GHAETHoLC0.

Question Number : 71 Question Id : 630680382940 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following is NOT a strategy of disaster preparedness and mitigation for earthquake?

Options:

1. ¥ Establishing earthquake monitoring centres (seismological centres).

2. # Use of Geographical Positioning System (GPS).

3. ¥ Modifying the house types and building designs in the vulnerable areas.

4.+ Using heavy materials in major construction activities in the vulnerable areas so that

earthquakes cannot break or displace buildings.



Question Number : 72 Question Id : 630680382941 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 TBS® O AVSHEL SPSD HEE S5 59 Koggaon?

Options :

1.“05332;@0

2. % QSR srauden Yo

3. ¥ Q8en

4. % J0°gd8ed PRS0

Question Number : 72 Question Id : 630680382941 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following disasters is caused by indirect human action?

Options :

1. % Wars

2. # Increase of greenhouse gases
3. ¥ Floods

4, #* Environment pollution

Question Number : 73 Question Id : 630680382942 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements is/are correct with reference to Yokohama Strategy and

International Decade for Natural Disaster Reduction (IDNDR)?



I. All the member states of the United Nations and other states met at the World Conference on
Natural Disaster Reduction in the city of Yokohama from 23 to 27 May 1994.
II. At this conference, the decade 1994-2004 was declared as the International Decade for Natural

Disaster Reduction (IDNDR).

Options :

1. % Only statement L is correct

2. ¥ Only statement Il is correct

3. ¥ Both statements I and II are correct

4. * Both statements I and II are not correct

Question Number : 73 Question Id : 630680382942 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
GrE’sPSr s3T50 000 BoBYNNS G5& HE Sehdd GarHb 0¢ES (IDNDR)S Kozofow) Sod HERSeS® OO

SeNnYs

1. 1994 & 23 5008 27 HBE BeETsse St580e5® 228805 é§e‘)@ §)$5®°§® @EQOXQ) é&o:ﬁ éc‘éc‘ﬁ%@ﬁ 83§§O‘°2$§c‘6;b@
K5 39720 SHOA B BFOR)) RSTPIFSALRo0.

I & RrS¥s?, 1994-2004 S5y @odgr®ab $5B JHeh Shot) Swgorr (IDNDR) 5o,

Options :

1. ¥ $508 T Srgd $356
2. % G¥es I Srgd 5380
3. % GEesen 15000 1T Sotkr $38

% LEoSen I 6008050 I Sodir D88 s°5)

Question Number : 74 Question Id : 630680382943 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33

E&0s9) B5en 08050 63¢3 F°RE 23 BAAH DSE H0230H0D od
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Options :

1.+ Lbll.alll.dIV.c
2. % Lall.bIll. cIV.d
3. % LbIl.cIIl.dIV. a

4, % [.cll.dIl.alv.b

Question Number : 74 Question Id : 630680382943 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Which of the following matches regarding type of droughts and their local Indian
names is correct?

Type of Drought Local Indian
name

I. Crop failure leading to a. Trinkal
scarcity of food grains
II. Crop failure leading to b. Akal
scarcity of fodder
II1. Inadequate rainfall c. Trikal
resulting in shortage of water
IV. Shortage in all the three d. Jalkal
given above

Options:

1.¥1LbIl.alll.dIV.c
2. % Lall.bIll.cIV.d
3.* LbIl.cll.dIV. a

4 # . cll.dIIl.alV.b

Question Number : 75 Question Id : 630680382944 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
505085 @3¢ SHBY Hydo 0wd (9ry0) @30 PITPIGS® 08 HBEe Soeyes Srow) HDoLoB

YD trsres.

Options :

1. % if0a%
2. v %8
3. % 5&

4. ® $EE)

Question Number : 75 Question Id : 630680382944 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Majuli (Assam), the largest riverine island in the world is the best example of good crops

after the annual floods in Brahmaputra.

Options :

1. * wheat
2. ¥ paddy
3. # cotton

4, % corn

Question Number : 76 Question Id : 630680382945 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
800 BS° SO B, HOSPI0 SHOAL FPoNA D0uicioS” SVPFPS 1YY VNP SrED sEerares®

2863 5208 N?

Options:

1. % &80 @) DoDd%o
2. % &9*&"’;?_030&3 939POH Xacge_‘faen
3. % {3 ardde aﬁrg’@ Qo €305

4. # SB&-Jowrared 00 S8 (Hoed’ eardre

Question Number : 76 Question Id : 630680382945 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which of the following is NOT one of the human activities that play an important role in increasing

the intensity, magnitude and gravity of floods?

Options :



1. ¢ Reforestation
2. * Unscientific agricultural practices
3. * Disturbances along the natural drainage channels

4. # Colonisation of flood-plains and river-beds

Question Number : 77 Question Id : 630680382946 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
5320500050 ST BI) ©GE Sifos” mrened DD TePSSe90S?, BT oIS HOBRS @é

BOYNGS FPoere.

Options:

1. % 20°N 0050 20°S soésg
2. % 30°N 8050 30°S &gy
3. % 40°N 0050 40°S ey

4. % 45°N 50050 45°S 0isg

Question Number : 77 Question Id : 630680382946 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Tropical cyclones are intense low-pressure areas confined to the area lying latitudes, in

the atmosphere around which high velocity winds blow.

Options:
1. % between 20°N and 20°S
2. % between 30°N and 30°S

3. # pbetween 40°N and 40°S



4. % petween 45°N and 45°S

Question Number : 78 Question Id : 630680382947 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Unlike other natural hazards, the mitigation of hazards created by is difficult.

Options :

1. % earthquakes
2. ¥ tsunamis

3. #* droughts

4. * floods

Question Number : 78 Question Id : 630680382947 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

BB Aes RSTTre SPQOT s, TR0 NS RITTOD @Qoféc‘éo EQ0.
Options:
1. #® 2eSosren

2. ¥ oaen
3. % ShPen

4. #* J8&en

Question Number : 79 Question Id : 630680382948 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

QDD AT o 20055°Q & @5rgohoS® Ber I ABTes @i HBod) HFDowsnkod?



Options :

1. % eogrgofo I

2. % egrgoo Il

3. * egrgoo I

4. ¥ eogrgafo IV

Question Number : 79 Question Id : 630680382948 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Which Chapter of the Disaster Management Act 2005, mentions about District Disaster

Management Authority?

Options :

1. # Chapter]

2. * ChapterII
3. #* ChapterIII

4. ¥ Chapter IV

Question Number : 80 Question Id : 630680382949 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year Shri.Pingali Venkayya attended the AICC session under leadership of Dadabhai

Naoroji where is he was inspired to design national flag for India?

Options :
1. % 1912
2. ¥ 1906

3. * 1908



4. % 1915

Question Number : 80 Question Id : 630680382949 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year Shri.Pingali Venkayya attended the AICC session under leadership of Dadabhai

Naoroji where is he was inspired to design national flag for India?

Options :
1. % 1912
2. ¥ 1906
3. % 1908

4. % 1915

Question Number : 81 Question Id : 630680382950 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who among the following served as the Chief minister of Andhra Pradesh during 1964 to 1971?

Options:

1. % Kasu Brahmananda Reddy
2. * Jalagam Vengala Rao

3. ¥ Damodaram Sanjivayya

4. % Neelam Sanjiva Reddy

Question Number : 81 Question Id : 630680382950 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Who among the following served as the Chief minister of Andhra Pradesh during 1964 to 1971?



Options :

1. % Kasu Brahmananda Reddy
2. # Jalagam Vengala Rao

3. ¥ Damodaram Sanjivayya

4. # Neelam Sanjiva Reddy

Question Number : 82 Question Id : 630680382951 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

30505 gUB @87y STYE Ao XD PM $8ogs S DY FPBoDowrd?

Options :

1. % w86 2020
2. % 2~ 2021
3.¢ &9§%5 2021

4. % g3 2020

Question Number : 82 Question Id : 630680382951 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
When was Ayushman Bharat Health Infrastructure Mission launched by PM Narendra Modi?

Options :

1. % October 2020
2. % July 2021

3. % October 2021

4. % July 2020



Question Number : 83 Question Id : 630680382952 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

P HABL0 TS RN B0 G 2020 T°e38 50 90% 508 HYEH _ FrHowrod OF5erT
26008 (Sheres 2018 o33 JrRR0Te) dgowosadod).

Options :

1. ¥ 58 9 dRAQ
2. % 5o

3. # o358 37D

4. ¥ 2re 5205005 JaSn§

Question Number : 83 Question Id : 630680382952 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The Mission Indra Dhanush launched by the Government of India aims to achieve of at

least 90% children by 2020 (later preponed to 2018).

Options :

1. # full immunization
2. % literacy

3. # Aadhar enrolment

4. * child labour release

Question Number : 84 Question Id : 630680382953 Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
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SO0 O KoSHoS® HT $00® KUES refyess @DArS (PMSMA) rtofossedon ?

Options :
1. % 2010
2. % 2012
3. % 2014

4.+ 2016

Question Number : 84 Question Id : 630680382953 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

In which year was the Pradhan Mantri Surakshit Matritva Abhiyan (PMSMA) launched by the
Government of India to provide assured, comprehensive and quality antenatal care, free of cost,

universally to all pregnant women on the 9th of every month?

Options :
1. % 2010
2. #2012
3. % 2014

4.+ 2016

Question Number : 85 Question Id : 630680382954 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
05O FRoSERS 15- KoB)ore JETIED Sr@rofods JTDHAT 2030 QBowS® grtforr 20158° @y

085TPeg O N5 BTN AN)) OO REBoToN?

Options:

1. % 13



2. %15
3.4 17

4. % 11

Question Number : 85 Question Id : 630680382954 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

How many goals were adopted by all UN Member States in 2015, as part of the 2030 Agenda for

Sustainable Development which set out a 15-year plan to achieve the goals?

Options :
1.% 13
2. % 15
3.4 17

4. % 11

Question Number : 86 Question Id : 630680382955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
NSl ARNA §°%0 2030 RozS® grtforr 20156° @)y wE5ores Db K5y 3¥7en kR0 85 ©F50 oed?

Options :

1. ¥ 5000 H 80 eagé é@@
2. % ) 59
3. % @5@:6 EPINUINTLTON

4. % 500 AL 00 &rOHS50



Question Number : 86 Question Id : 630680382955 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the goal number 8 adopted by all UN Member States in 2015, as part of the 2030 Agenda

for Sustainable Development?

Options :

1. + Decent work and economic growth
2. % Zero Hunger

3. ¥ Reduced inequalities

4. * Clean water and sanitisation

Question Number : 87 Question Id : 630680382956 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
2030 58050 2052 30655 2 o § DK ©55°%0 ol BoLEHHSERLS r5RS &S S Jok (

IPCC) eodar 3008.

Options :

1. % 0.5°C
2.9 15°C
3. % 25°C

4. % 3.5°C

Question Number : 87 Question Id : 630680382956 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

The Intergovernmental Panel on Climate Change (IPCC) estimates that global warming is likely to

reach between 2030 and 2052.



Options :

1. % 0.5°C
2.9 15°C
3. % 25°C

4. % 3.5°C

Question Number : 88 Question Id : 630680382957 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The Namami Gange Mission - a key policy priority towards achieving the was launched as a

priority programme with a budget outlay of ¥20,000 crores for the period 2015-2020.

Options:

1. % SDG 12
2. # SDG 10
3. # SDG 8

4. ¥ SDG 6

Question Number : 88 Question Id : 630680382957 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

QG B EoERN Qe FPerges Sasrak ol o 2015-2020 sterd$ 20,000 £ 2@l
$5050e8° Ferss eSS0 @roRdoseadod.

Options :
1. % SDG 12
2. # SDG10

3. * SDG8



4. ¥ SDG 6

Question Number : 89 Question Id : 630680382958 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year has India launched a National Clean Air Programme as a PAN India time bound
national level strategy for prevention, control and abatement of air pollution besides augmenting

the air quality monitoring network across the country?

Options:
1.4 2019
2. #2017
3. # 2015

4. % 2013

Question Number : 89 Question Id : 630680382958 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

B¥rgom MO reage¥ HE35es 335D 20PoB0oscioes” It PO SPenRs ardes, NODoZEs SHOAN
208 %0 50 PR VoGO G Fok & FON FrgEorr PFEBRF0 2 D0HBYBoS® SASS 0 o0
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Options :
1.+ 2019
2. % 2017
3. % 2015

4. % 2013

Question Number : 90 Question Id : 630680382959 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

0% X35 2018-19 5780 SDG wocEy R%,66° 69 K58 & Sodkd ToEPIED SS00L8 SBRIS® Gmyon?

Options :

1. # Hzored 0050 B
2. ¥ 35 0005 SrSrSS éé'ag
3. ¥ Beomres o005 0%@%5

4. % S $o00% HesHdE

Question Number : 90 Question Id : 630680382959 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Which two states are the front runners with a score of 69, in the SDG Index Score as per the

Economic Survey 2018-19?

Options :

1. ®# Gujarat and Tamil Nadu

2. ¥ Kerala and Himachal Pradesh
3. #* Telangana and Rajasthan

4. % Karnataka and Madhya Pradesh

Question Number : 91 Question Id : 630680382960 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

ISSTISCEEIARN ARSI AS Q3BE 2022 H5780, o 2022 °e38 Hdolargomr S508 P20 VOB F°S
S0 Wotrdhl.

Options :



1. ¥ 100 DA
2. % 150 DDAHH
3. % 200 QDAHH

4. % 250 QAH

Question Number : 91 Question Id : 630680382960 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

As per Sustainable Development Goals report 2022, a record of people had been forcibly

displaced worldwide, as of May 2022.

Options :

1.4 100 million
2. % 150 million
3. ¥ 200 million

4. * 250 million

Question Number : 92 Question Id : 630680382961 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

_ X8R 19508° He9% Sosno HTRyR005e8.

Options :

AV V4

1. ® oRo0®



4, = 45333{353330@

Question Number : 92 Question Id : 630680382961 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In 1950, the Planning Commission was set up with the as its chairperson.

Options :

1. # President

2. ¥ Prime minister
3. % Governor

4. % Chief Minister

Question Number : 93 Question Id : 630680382962 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
rES3ToS? éoiﬁég éw@§e> FE0 » «‘60&6@5{360@5’6 SFPBoH00?

Options :
1.4 1950
2. % 1951
3. # 1948

4. % 1949

Question Number : 93 Question Id : 630680382962 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year did the era of five-year plans begin in India?



Options :
1.4 1950
2. % 1951
3. % 1948

4. % 1949

Question Number : 94 Question Id : 630680382963 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
) FPESBRT S 508 JHdo BT (BGREI) @38 8es Hadestod 0b @ssen

DAHLIES) TPe290H H)R ISR Giras (RKVY) G essd 5¢%o.

Options :

1. % 2016-17
2. % 2014-15
3. % 2012-13

4.+ 2010-11

Question Number : 94 Question Id : 630680382963 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

‘Bringing Green Revolution to Eastern India (BGREI) is a sub scheme of Rashtriya Krishi Vikas

Yojana (RKVY) being implemented since by the Government of India.

Options :
1. % 2016-17
2. % 2014-15

3. % 2012-13



4.+ 2010-11

Question Number : 95 Question Id : 630680382964 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
P8 2&AH 57000 TITe D HETVE KoHTR) TN DA FEBRFS® HoPHY HETIZODH oo

DAHEN0. 88 HEFDS Koz DY) DTN F0HGR?

Options:
1. ¥ 1940
2. ¥ 1938
3. # 1942

4. % 1944

Question Number : 95 Question Id : 630680382964 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The setting up of National Planning Committee by Indian National Congress was an effort to begin

five-year plans in India. When was this planning committee set up?

Options :
1. % 1940
2. % 1938
3. % 1942

4. % 1944

Question Number : 96 Question Id : 630680382965 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33



Who introduced the economic plan called ‘Sarvodaya’ plan in 19507

Options:

1. # Jawaharlal Nehru

2. * Gopala Krishna Gokhale
3. ¢ Jaiprakash Narayan

4, # Sarvepalli Radhakrishnan

Question Number : 96 Question Id : 630680382965 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

19508° '%8°e50%" @9 Y QETPED I PSISCESColovys

Options :

1. ¥ 2350erd Iy
2. % fFaro HR Tad

3. ¥ zaddsear ororaHed

4, % J330Q RS

Question Number : 97 Question Id : 630680382966 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
B0LOHR B OHTAADNR B0E), AETS 9IS oes E0ED ') Q' ©R 0% JEdE Y @sHeo
RA0H2GR?

Options :
1.+ 1945

2. % 1943

3.



* 1941

4. * 1939

Question Number : 97 Question Id : 630680382966 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

When was the economic plan called ‘Peoples Plan’ by post war reconstruction committee of Indian

Trade Union implemented?

Options :
1.9 1945
2. %1943
3. % 1941

4. % 1939

Question Number : 98 Question Id : 630680382967 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
PO Ha0e0 e DS 0ese3 $H50NE PeTdE esSorr 83°sroR050&0R.

Options :

1. % HZFOSA0 Heds
2. ¥ SEE-EE5508 Sssaeae
3. # R&%500 Herds

4. % roadH Herds

Question Number : 98 Question Id : 630680382967 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.33
The first Five Year Plan executed by the Government of India is based on

Options:

1. # Mahalanobis Plan

2. ¥ Harrod-Domar Model
3. * Sarvodaya Plan

4. % Gandhian Plan

Question Number : 99 Question Id : 630680382968 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 oY HeTPEY” 'SHH0BFS HOA 5280eY BANPY WAFYAR' ©FFoP DEPDSYA NA?

Options :

1. ¥ 118 D085 Heds
2. % 108 H0usNY Heaeds
3. % 958 DN HeTeds

4. % 83 HosdY Leweds

Question Number : 99 Question Id : 630680382968 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which of the following Five-Year Plans was aimed ‘towards faster and more inclusive growth'?

Options:
1. % 11th Five Year Plan

2. % 10th Five Year Plan



3. % 9th Five Year Plan

4. * 8th Five Year Plan

Question Number : 100 Question Id : 630680382969 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

28)208 B3y NS erBeBoh 2e058) ©sH0%H SGRERS FBHAESD woloswAs 1934 RBI S¢o, o

— v

«‘6026@.‘5{365066 NHB0SE&0R?

Options:
1. % 2010
2. % 2012
3. ®¥ 2014

4.+ 2016

Question Number : 100 Question Id : 630680382969 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year was the RBI Act, 1934 amended to provide a statutory basis for the implementation

of the flexible inflation targeting framework?

Options:
1. % 2010
2. #2012
3. #¥ 2014

4.+ 2016

Question Number : 101 Question Id : 630680382970 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

¢85 Sorsed EmrE @S (GKRA)R &80 SIS H0R 5785008 Gard 50050 BTG @RS Ted
2088 & rde¥ Hahesso JrdoRood.

Options :
1.+ 2020
2. ¥ 2018
3. % 2016

4. % 2012

Question Number : 101 Question Id : 630680382970 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Garib Kalyan Rojgar Abhiyaan (GKRA) was launched by the government of India in to boost

employment and livelihood opportunities for returnee migrant workers.

Options :
1.+ 2020
2. #2018
3. # 2016

4. % 2012

Question Number : 102 Question Id : 630680382971 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

ESPRHRE 328 ¥8 K33 (PLFS) $5°80, 2019-208° gr8e8i3soS® 15 H¢H 00050 @osEotl 538 H0HK)
&5r5)7°0 ABE5NES T dos?

Options :



1. % 7.8%
2. % 6.8%
3. ¥ 4.8%

4. % 8.8%

Question Number : 102 Question Id : 630680382971 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

As per the Periodic Labour Force Survey (PLFS), what is the unemployment rate in India for people

of ages 15 years and above in 2019-20?

Options :
1. % 7.8%
2. % 6.8%
3.¥ 4.8%

4. * 8.8%

Question Number : 103 Question Id : 630680382972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

éc,m% 3008 sz ABezss (PMMY) 8ods, 8oeg) /S segerd K)oéeﬁa 000 H3HOBH 570 TPgErS SPUgErarOD

NTYE BONTPSE S DB 1SN o I~ Yo ) PEED G GHETen BRIRCEETO0.
Options :

1. % %10 o¥en

2. # 35 o8

3. #® 315 ofen

4.



# 320 oFen

Question Number : 103 Question Id : 630680382972 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Under Pradhan Mantri Mudra Yojana (PMMY), collateral free loans up to are given to
micro/small business enterprises and to individuals to enable them to setup or expand their

business activities.

Options :
1.+ %10 lakh
2. ¥ ¥5lakh
3. # ¥15lakh

4. % %20 lakh

Question Number : 104 Question Id : 630680382973 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
Sa5FeT) o) 0D Trakes Gard P S¢o B SBTAS SGHEFS PR BHod.

Qa— -0

Options :
1. % 200
2. % 150
3. # 50

4.+ 100

Question Number : 104 Question Id : 630680382973 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Mahatma Gandhi National Rural Employment Guarantee Act gives legal guarantee of days

of wage.

Options :
1. % 200
2. %150
3. %50

4.+ 100

Question Number : 105 Question Id : 630680382974 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the rank of India among 191 countries in the Human Development Index report 2022

released by United Nations Development Program (UNDP)?

Options :
1.9 132
2. % 122
3. %112

4. % 142

Question Number : 105 Question Id : 630680382974 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

0850725008 DS 528580 (UNDP) Jedoise SRESINIE OIS ELARNARSS ] AIBE 2022¢5° 191 Swros®
TSR0 T°g08 oes?

Options :
1.9 132

2. % 122



3. % 112

4. % 142

Question Number : 106 Question Id : 630680382975 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
O Habesto 2017-18 S0 wGES® BSrQolS 'S @os iEah’ HEEo dlng) K ©F5e Noed?

Options :

1. % 2330er PHMHE AoHoges
2. % Stioeg’ srendy AoHoges
3. @&W@Sﬁa@

4, % 3¢ Stiorg® Sore Sewn doHoges

Question Number : 106 Question Id : 630680382975 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the overall objective of ‘Mission Antyodaya’ scheme adopted in the Union Budget 2017-18

by the Indian government?

Options :

1. * Control of population growth
2. # Control of pollution in cities
3. ¥ Rural development

4. * Control of crime rate in big cities

Question Number : 107 Question Id : 630680382976 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.33
2014° & 280H TAHHE 220508 Fers BT 35008 $Togs s KRG ¢Sy e Bz (SAGY)R
FEoDowrdn?

Options :

1. ¥ &8 0HS wavpsta ororahed
2. % e o
3. ¥ 350538 P od 885G

4. % @erd derTeD T

Question Number : 107 Question Id : 630680382976 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

On the birth anniversary of which national leader did the Prime Minister Narendra Modi launch

Saansad Adarsh Gram Yojana (SAGY) in 2014?

Options :

1.+ Lok Nayak Jai Prakash Narayan
2. ¥ Mahatma Gandhi

3. ¥ Mahadev Govind Ranade

4. *# Alluri Sitaram Raju

Question Number : 108 Question Id : 630680382977 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

T35 HE aﬁaagpg SRS DR (SPMRM) G3og)y o5’ 25e

Options :

1.4 Q“QS’ @Q?@Eﬁ@@@ @83301‘5&50



2. % pSrd’® @Forg® $erd) SodihHsEo
3. % posre® Dotf DB BOIHBESSo

4. # Srof G Akhged @ololéo

Question Number : 108 Question Id : 630680382977 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
One of the objectives of the Shyama Prasad Mukherji Rurban Mission (SPMRM) is to

Options :

1. # stimulate local economic development
2. * improve literacy rate in villages

3. # improve sex ratio in villages

4. * provide free electricity to villages

Question Number : 109 Question Id : 630680382978 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

@ Tegol] DT FQo TIT°, ST SEtiehe 28AH EHNS (NCBC)S oeegols K)o@ S BR0G08?

Options :

1. % 1038 oregott 0d8es 15%30
2. % 104% O°zs°§o€$ 0DXBed 5%)0
3. % 109 ooegot] Nd8ed 5%)0

4. ¥ 1025 c°23°§o(‘i ISEvYefar) zﬁ%)o

Question Number : 109 Question Id : 630680382978 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Through which Constitutional Amendment Act, was the National Commission for Backward

Classes (NCBC) given status of constitutional body?

Options :

1. * 103rd Constitutional Amendment Act
2. % 104th Constitutional Amendment Act
3. ¥ 109th Constitutional Amendment Act

4.+ 102nd Constitutional Amendment Act

Question Number : 110 Question Id : 630680382979 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
PO AANEL Hox00 ¢ KNodeh Ko écggs@‘swﬁ)&(ﬁsegﬁ 2~D0) BHYEE?

Options :
1. % 2005
2. #2003
3. ¢+ 2001

4. % 1999

Question Number : 110 Question Id : 630680382979 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In which year did the election commission of India celebrate its Golden Jubilee?

Options :

1. # 2005



2. % 2003
3.+ 2001

4. % 1999

Question Number : 111 Question Id : 630680382980 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2~g 2023 38, ZrESAFSR 808 & Trargot] M0 KK Seaniard defyefso Sardpamth?

Options :

1. ¥ 8 eerd) 28886
2. * 38 ) E® Dogoo
3. ¥ AdryS Hero wr8ad SRS

4. % RS Stfe @A EDRS

Question Number : 111 Question Id : 630680382980 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
As of July 2023, KK Venugopal is heading which of the following constitutional bodies in India?

Options:

1. ¥ Attorney General of India

2. # Election commission of India

3. * National commission of scheduled castes

4. % National commission of scheduled tribes

Question Number : 112 Question Id : 630680382981 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
PAela] U°23°§oﬁoe36§) R[0S DTS @S hesorr U";oljé@rz) DR $hod Sofoséo 2EIHSR.

Options :

1. # @880 71
2. * Q8890 41
3. * 8890 51

4, ¥ 8850 61

Question Number : 112 Question Id : 630680382981 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The removal of the President from office is to be done in accordance with the procedure

prescribed by the of the Indian Constitution.

Options :

1. % Article 71
2. ¥ Article 41
3. * Article 51

4. % Article 61

Question Number : 113 Question Id : 630680382982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 arOS° S K208’ SO KPS TOHRTGT S DARTH?

Options :

1. ¥ $58erd B8omre Ease



2. % 2o HFozd 'a"’f’g
3. # 0558 So& 58P

4. % D H5r6 Swed

Question Number : 113 Question Id : 630680382982 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who among the following served as the first Chief Justice of Supreme Court of India?

Options :

1. % Harilal Jekisundas Kania
2. % M Patanjali Sastri

3. ¥ Mehr Chand Mahajan

4. * Bijan Kumar Mukherjea

Question Number : 114 Question Id : 630680382983 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

The Comptroller and Auditor General (CAG) of India, holds the office for a duration of six years or

years of age (whichever comes earlier).

Options :
1. %55
2. ¥ 65
3. ¥ 60

4. % 50

Question Number : 114 Question Id : 630680382983 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

PPESBTo GI0E) S0 000 edewd BSES (CAG), 8th Sokehyores Sor &#08 _ Kodefyore £H0Hi0)
53 DT (DA 300 $T) @) HBK) HEIS® crotrdhd.

Options :
1. % 55
2.9 65
3. * 60

4. % 50

Question Number : 115 Question Id : 630680382984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
808 0’ P 3" Toegoi] DBFOS T I DARDPHI)EH?

Options :

1. = goé S NPT Bﬁao@

Question Number : 115 Question Id : 630680382984 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who among the following serves as the constitutional head of India?

Options :

1. * Union minster of home affairs



2. ¥ Chief Justice of Supreme court
3. #* Prime Minister

4. ¥ President

Question Number : 116 Question Id : 630680382985 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 &rOS® amG 2023 re38 Treegdey GITsS PHS AIH?

Options :

1. ¥ 3 3HSrS oS
2. # 18 HB80HD
3. ¥ 5850% ororaHes dobh

4. # MM 258

Question Number : 116 Question Id : 630680382985 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who among the following is the Deputy Chairman of Rajya Sabha as of July 2023?

Options :

1. ®# KRahman Khan

2. % PJ Kurien

3. % Harivansh Narayan Singh

4. % MM Jacob

Question Number : 117 Question Id : 630680382986 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

TPasgRogs ToRReS e a005D Sesd Sk Gocth. eond, KHEdieS® srdo wE Kotk H& & HSD
DBs5ves S,
Options :

1. % 3o&d K)oée}%(ﬁo

2. % B[S éoée‘é\‘)iﬁo

3. ® e Qodbo
0

4, % 2085 éo:‘éeﬁ\‘)iﬁo

Question Number : 117 Question Id : 630680382986 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Rajya Sabha is a permanent body and is not subject to dissolution. However, one third of the

members retire every

Options :

1. % second year
2. * third year
3. * fourth year

4, # fifth year

Question Number : 118 Question Id : 630680382987 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
PESRFS” HPE KOIR ENRAR NTYRD PSS HAdESS 5o, 19196 & DES ©oBodol?

Options :



1. % 255 86(%)
2. ¥ 255 96(2)
3. % 255 76(2)

4. % 255 56(2)

Question Number : 118 Question Id : 630680382987 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which Section of the Government of India Act, 1919 provided for the establishment of a Public

Service Commission in India?

Options :

1. # Section 86(C)
2. ¥ Section 96(C)
3. # Section 76(C)

4. % Section 56(C)

Question Number : 119 Question Id : 630680382988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
PO TrergotioS R & @REBER0 FPErHIFS @ IN0grse §b0 DY @S0 @oliHol?

Options :

1. ¥ 2088890 350B
2. % Q8890 250B

3. #* @880 450B



4, % 8890 650B

Question Number : 119 Question Id : 630680382988 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which Article of the Indian constitution provides for a Special Officer for linguistic minorities?

Options :

1. % Article 350B
2. * Article 250B
3. # Article 450B

4. % Article 650B

Question Number : 120 Question Id : 630680382989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
PEBRFoS® Socésd @& ¢ &Y Froed) ED0 &) TR0 A?

Options :
1. #
2. # BRI

3. % S8¢

4. & @o@é&g'ag

Question Number : 120 Question Id : 630680382989 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which state in India has the second largest coastline?



Options :

1. * Goa

2. % Tamil Nadu
3. #* Kerala

4. % Andhra Pradesh

Question Number : 121 Question Id : 630680382990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
&90@@3'5_ TPR90 o FTE0D §§oe’>’6 &ol?

Options:

1. % 57503 §¢¥o
2. ¥ 2550 §¥0 11 005 111
3. # 5o 8o IV

4. ® 3505 3o V

Question Number : 121 Question Id : 630680382990 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In which seismic zone is the state of Andhra Pradesh placed?

Options :

1. * Seismic ZoneI

2. ¥ Seismic Zone Il and III
3. # Seismic Zone IV

4. * Seismic Zone V



Question Number : 122 Question Id : 630680382991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
D) Frrasd B Tmrsd SO G, DI Br @S0 00Cerees® P8 HFYH eI Ber S0k

NTYED BOHGE.

Options :
1. 19
2. ®# 17
3. %15

4. % 13

Question Number : 122 Question Id : 630680382991 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The West Godavari District is carved out of part of old West Godavari District with Mandals

as it is the Western delta of the River Godavari.

Options:
1.9419
2. % 17
3. % 15

4. % 13

Question Number : 123 Question Id : 630680382992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In terms of area, Andhra Pradesh is the largest state in India.



Options :
1. #* 10th
2. # 13th
3. ¥ 7th

4. #® 9th

Question Number : 123 Question Id : 630680382992 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Qf’ggo DGorr, rSeSRFo® @ogécf)§ & ¢ T°R90.

Options:

1. % 105
2. % 138
3.¥ 7%

4. % 9%

Question Number : 124 Question Id : 630680382993 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B0Gar HE 0D 0 (ISFR) 2021 570, 8ogHdFe® SIr@S @d Srodo d0es?

Options :

1. ¥ 37,258 56559 85°exts
2. ¥ 27,258 565859 8 eas

3. % 47,258 56555 8S° e



4. % 57,258 55559 85 0

Question Number : 124 Question Id : 630680382993 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
As per India State Forest report (ISFR) 2021, what is the recorded forest area in Andhra Pradesh?

Options :

1. % 37,258 square kilometres
2. * 27,258 square kilometres
3. ¥ 47,258 square kilometres

4, # 57,258 square kilometres

Question Number : 125 Question Id : 630680382994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
©0GHAFTS R 800t $S5reane @yardeage @) o des?

Options :

. ® RXEY OTEagen
2. % Sng eacéayen
3. ¥ 0350088 850ck eacéahen

4, ¥ J8erdeagen

Question Number : 125 Question Id : 630680382994 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

What is the forest type in Coringa Wildlife Sanctuary in Andhra Pradesh?



Options :

1. * Evergreen forest

2. ®# Thorn forest

3. ¥ Tidal Mangrove forests

4. * Montane forest

Question Number : 126 Question Id : 630680382995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

As per India State of Forest report 2019, which district of Andhra Pradesh has the highest forest
cover of 4,994.10 km2?

Options:

1. % East Godavari
2. * Chittoor

3. ¥ Kurnool

4. % Prakasham

Question Number : 126 Question Id : 630680382995 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
VoGO DL 88 °0F JIQE 2019 Hse¥o, BoFHATSN O BYS® egfsdorr 4,994.10 km? e9eos) QYo ol

?
Options :

1. ¥ ity om0
2. % JegrH

3. % Kgmen



4. % D520
-/

Question Number : 127 Question Id : 630680382996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

B0&0OS® ?8\365 @“6:20 NISTALS &0, SO &) of)(f\ggo (RFA) $8orr S @oééa'a’;__ Q"&’)o@')’e &oQ.
Note: For this question, discrepancy is found in
guestion/answer. So,this question is ignored for

all candidates.
Options :

1.9%

2.58%

3.7%

4. 8%

Question Number : 127 Question Id : 630680382996 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

As per India State Forest report, Andhra Pradesh is also ranked in terms of the Recorded

Forest Area (RFA).

Note: For this question, discrepancy is found in
guestion/answer. So,this question is ignored for

all candidates.

Options :



1.9th
2. 5th
3.7th
4. 8th

Question Number : 128 Question Id : 630680382997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

D005 ?5895 @"5:2) G@SQ (ISFR) 2021 $s°Co, @o@é{f)'ag EHOY Q"oeﬁo@ﬁ Do TS0 &) oo S3rR0H?

Options :

1.9 22.86 %
2. % 24.86 %
3. # 26.86 %

4. % 28.86 %

Question Number : 128 Question Id : 630680382997 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

As per India State Forest report (ISFR) 2021, what percentage of geographical area of Andhra

Pradesh has recorded forest area?

Options :

1.9 22.86 %
2. % 2486 %
3. # 26.86 %

4. % 28.86 %

Question Number : 129 Question Id : 630680382998 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
20238° SAKS BArensd 83§) aderrsd 05 H5°o, 15 @S Sy&E sresces @dsormr A3Homr

230iHATE’ O BS® es)on?

Options :

1. % Qguedd

2. ¥ @308 80
3. ¥ J90e)0

4, % '§?S°§D€fo

Question Number : 129 Question Id : 630680382998 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

As per the reports of National Geophysical Research Institute in 2023, which district of Andhra

Pradesh has the large deposit of 15 rare earth elements?

Options :

1. # Nellore

2. ¥ Anantapur

3. ¥ Visakhapatnam

4. % Srikakulam

Question Number : 130 Question Id : 630680382999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
a8 SB8 @0 56 does?

Options :



Question Number : 130 Question Id : 630680382999 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
What is the National code of Godavari River designated as?

Options :
1.¥E
2. %D
3. % C

4. % F

Question Number : 131 Question Id : 630680383000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
P8BSR ToS ) TS Q%goéﬁ oS F°Bo @o@é&g'f 38S508® &ob?

Options :

1. % 5.96%
2. ¥ 4.96%
3. # 7.96%

4. * 6.96%



Question Number : 131 Question Id : 630680383000 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
How much percentage of the geographical area of India is covered by Andhra Pradesh?

Options :

1. % 5.96%
2. % 4.96%
3. ¥ 7.96%

4. * 6.96%

Question Number : 132 Question Id : 630680383001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

&304 HAT 90 12°37' N Sood 19°55' N eogrowo 608050 76°45' E ol E Sgro¥o sy csold.
Options :

1. % 85°46'

2. # 81°46'

3. ¥ 84°46'

4. % 83°46'

Question Number : 132 Question Id : 630680383001 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The Andhra Pradesh state lies between 12°37' N to 19°55' N latitude and 76°45' E to E

longitude.

Options:

1. #* 85°46'



2. % 81°46'
3. ¥ 84°46'

4. % 83°46'

Question Number : 133 Question Id : 630680383002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

2019 &°¢38, e90gHATS” DGPEN® WOPEETZLD GO,

Options :
1.+ 13
2. % 11
3.%9

4. %7

Question Number : 133 Question Id : 630680383002 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33
As of 2019, Andhra Pradesh has Wildlife Sanctuaries.

Options :
1.413

2.% 1

Question Number : 134 Question Id : 630680383003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33
©0FHATS’, 83H0 1, 2015 S0k HRHO 5, 2019 $BLH , @& Hodges 5o, 1980 HsSo Sneho i)
©®) Frd BOJCHBY HATETe 50 Pocstod.

Options :

1.9 3,474.57
2. % 3,274.57
3. ¥ 3,174.57

4. % 3,374.57

Question Number : 134 Question Id : 630680383003 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In Andhra Pradesh, during the period 1st January 2015 to 5th February 2019, a total of
hectares of forest land has been diverted for non-forestry purposes under the Forest Conservation

Act, 1980.

Options :

1.+ 3,474.57
2. % 3,274.57
3. % 3,174.57

4. * 3,374.57

Question Number : 135 Question Id : 630680383004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

° 228805 e§eo?§6&) 0533630636 QBADSHY :@"@ago 0B RN0B0H.

Options :

1. % s.¥1545

. .
-~/



2. % s.¥1555

o

3. v §%1565

4. %

W

¥1560

Question Number : 135 Question Id

: 630680383004 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Vijayanagara Empire was destroyed in Tallikota war of

Options :

1. * 1545 AD

2. % 1555 AD

3. % 1565 AD

4. = 1560 AD

Question Number : 136 Question Id

: 630680383005 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33

S e30g8 HATS*A 2reYto HYoS® & Trasioto &0R FDokstold?

-0 -

Options :
1. % 03%3&0&‘6363 ore3d0%o
2. ® Serge oredoTo

3. ¥ JZyaron oredoTo

4, = w@a@&n@ oPER0To

Question Number : 136 Question Id

: 630680383005 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The present day Peddapuram in Andhra Pradesh was ruled by which of the following dynasties in

the past?

Options :

1. * Vishnukundin Dynasty
2. # Malyala Dynasty

3. ¢ Vatsavayi dynasty

4. # Rashtrakutas dynasty

Question Number : 137 Question Id : 630680383006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
808 0S° 'PEHOLAHAN' @S Aol HoFr)) LD Gowrds?

Options :

1. ¥ egahorer Kozr)eagse)
2. # 55 tfotics

3. % 3)osQ )

4. % 390dQ Sowyorahwy

Question Number : 137 Question Id : 630680383006 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who among the following wrote the literary work ‘Bhadraparinayamu’?

Options :

1. % Allamaraju Subrahmanyakavi



2. ¥ Kuchimachi Gangana
3. * Devulapalli Bapanna

4. % Devulapalli Subbarayasastri

Question Number : 138 Question Id : 630680383007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
IO Si5/HerS FoBS Y Henowo e DAFS 808 & o) rDodol?

Options :

1. % 0558850
2. ® P85
3. % 295000

4. ¢ § sFd

Question Number : 138 Question Id : 630680383007 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Damerla family of Velama tribe/caste ruled which of the following regions in Andhra Pradesh?

Options :

1. ®* Lakkavaramu
2. ® Polavaramu
3. * Amaravati

4.+ Sri Kalahasti

Question Number : 139 Question Id : 630680383008 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
SPOTY S0 @ Jaress (orra)) Sods @og HAT TP SSondd ah?

Options :

1. % ?‘bgcﬁ oo
2. ¥ Q8HO DBJrge0ag
3. ¥ 505w J08075)c

4, % @%Js‘o‘f) OPOPONED

Question Number : 139 Question Id : 630680383008 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Which ancient writer of Andhra Pradesh wrote the literaty work ‘Kasiyatra Charitra”?

Options:

1. ¥ Peddada Nagaraja

2. ¥ Enugula Veerasamayya

3. * Komarraju Venkatasivudu

4. % Dittakavi Narayana

Question Number : 140 Question Id : 630680383009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
(123558 D2OHTeH Tz e0 AT TA0EY O ToEPsS FoASereda?

Options :

1. ¥ aaHStido



2. #* QJoZ0A8
3. % 52043

4, % 9350008

Question Number : 140 Question Id : 630680383009 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
King Gajapati Vijayarama belonged to which kingdom of Andhra Pradesh?

Options :

1. % Vijayanagaram
2. * Venkatagiri

3. % Karveti

4. % Amaravati

Question Number : 141 Question Id : 630680383010 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
g Bogs NBATECE E3)iT088 $P8s00e%H e90FHATE’R & BEPS® B0urh?

Options :

1. % Do
2. % §a§a;
3. ¥ ey (Faradd

4. % Sy

Question Number : 141 Question Id : 630680383010 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
In which district of Andhra Pradesh was the freedom fighter Kanneganti Hanumanthu born?

Options :

1. % Guntur

2. # Krishna

3. % East Godavari

4. % Kurnool

Question Number : 142 Question Id : 630680383011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
0500 EAR TR0 HTSSE H55BTLorr &0tHerd H5°F0 O Do BoS® &s8os) NE§ToTth?

Options :
1. % 1925
2. #1926

3.4 1928

4. % 1927

Question Number : 142 Question Id : 630680383011 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which year did Tanguturi Prakasham lead a procession against Simon Commission’s visit to

Madras?

Options :

1. % 1925



2. % 1926
3.4 1928

4. % 1927

Question Number : 143 Question Id : 630680383012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

19848° 8oFHAT 50305600 TR0gg GPOETE) ) Earen HABTEL?

Options :
1.4 31
2. % 25
3. % 15

4. % 18

Question Number : 143 Question Id : 630680383012 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

For how many days did Nadendla Bhaskara Rao serve as the Chief Minister of Andhra Pradesh in

19847

Options :
1.9 31
2. % 25
3. %15

4. % 18

Question Number : 144 Question Id : 630680383013 Is Question Mandatory : No Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
TG0 KoBRODS & 570 NG BoFNAT 05RO HARTEH?

Options :

1. % 1960 ok 1962 S8%H
2. % 1964 Sod 1966 585
3. % 1957 ol 1959 H58%

4. * 1968 ok 1970 S8

Question Number : 144 Question Id : 630680383013 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Between which period did Damodaram Sanjivayya serve as the chief minister of Andhra Pradesh?

Options:

1.9 1960 to 1962
2. # 1964 to 1966
3. # 1957 to 1959

4. % 1968 to 1970

Question Number : 145 Question Id : 630680383014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
5328 B D SER0EF0Y "W €8 DHS® ErofS™E 05BN HIE Senth Se HB?

Options :

1. ¥ &Hed 3¢



2. % 3o Heien
3. ¥ ST

4, % IS° e3¢t

Question Number : 145 Question Id : 630680383014 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Which famous Telugu novel was translated to Hindi with the title ‘Sahasra Phan’ by former Prime

Minister PV Narasimha Rao?

Options :

1. #* Tulasi Dalam

2. ¥ Veyi Padagalu

3. ¥ Mahaprasthanam

4. * Vennello Aadapilla

Question Number : 146 Question Id : 630680383015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

198 ¥ergod’ 'Er5800)0" @Q DHH TSR MR SJowrdd ?

Options :

1. % &rg gorssnen
2. % 50t55Er8 Q8¥Dotio
3. # Potio YATRTR)

4. ¥ 10820 a0



Question Number : 146 Question Id : 630680383015 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
Who wrote the revolutionary play ‘Kanyasulkam’ in the 19th century?

Options :

1. #* Potti Sriramulu

2. ¥ Kandukuri Veereshalingam
3. ® Srirangam Srinivasa Rao

4. ¥ Gurajada Appa Rao

Question Number : 147 Question Id : 630680383016 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.33
9048 HAT S°Q tH& 5% FeR &) TR FergrdS 3oBSL.

Options :

1.9 7%
2. % 6
3. % 4%

4. % 3%

Question Number : 147 Question Id : 630680383016 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
The inscriptions on the walls of Gooty fort in Andhra Pradesh date back to the century.

Options :

1.+ 7th



2. % 6th
3. ® 4th

4. * 3rd

Question Number : 148 Question Id : 630680383017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Q"z?)rﬁ 5°008° FPB TS S0 esog DAFTS 2 §od & ZPooS® Gol?

Options :

1. ¥ 35000
2. % D
3. # @ﬁ@%"ec;)a

4, * od0B)8o

Question Number : 148 Question Id : 630680383017 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In which of the following present-day places in Andhra Pradesh did Satavahana empire exist in

ancient times?

Options:

1. ¥ Amaravati
2. % Kadapa
3. * Palakollu

4. % Anantapuram



Question Number : 149 Question Id : 630680383018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
@5°S” e0off’ &'0HE 0B 90D’ $EETRSS” QAR RS’ RPADE 2 IV eog HATH BoBS
T Bogds RDNEAPERE XH?

Options :

1. ¥ &rg gorssoen
2. #* @otHhed ‘86/5"'3"0
3. ¥ &olrgoard 56{303355629

4. ¥ 20019 30E00g

Question Number : 149 Question Id : 630680383018 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.33

Which freedom fighter from Andhra Pradesh served as a soldier in the British Army in South Africa

during the Anglo Boer war in Africa?

Options :

1. # Potti Sreeramulu

2. * Tanguturi Prakasam

3. ¥ Uyyalawada Narsimha Reddy

4. ¢ Pingali Venkayya

Question Number : 150 Question Id : 630680383019 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 0S° R HDE SOR Dep sSPaRT Erdrodo) 19388° somrid @RS KHBIIIE HH?

Options :



1. ¥ PQere ﬁscﬁl’@s’agoﬁag
2. % Heyond Kooy
3. #® 535083 seddasoe

4, % $7EID HRSRSYO0S

Question Number : 150 Question Id : 630680383019 Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

Who among the following drafted the Madras Public Libraries Bill and submitted it to the Madras
Assembly in 19387

Options :

1. ¥ Vavilala Gopalakrishnayya
2. ¥ Puchalapalli Sundaraiah
3. # Kaneganti Hanumanthu

4. # Makineni Basavapunnaiah



